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(p0 + α1 p1 + α2 p2 + α3 p3 + β)ψ = 0, (4)
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0 = (−p0 + α1p1 + α2p2 + α3p3 + β)(p0 + α1p1 + α2p2 + α3p3 + β) ψ
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0 + Σα2
1p
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1 + Σ(α1α2 + α2α1)p1p2 + β2 + Σ(α1β + βα1)p1] ψ, (5)

�� V�� �5��>D *2(��� $��/� 3 � 2 � 1 ��+i"�/ ����"�E �0 '��� �� Σ �9 �� ��
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α2
r = 1, αrαs + αsαr = 0 (r �= s)

β2 = m2c2, αrβ + βαr = 0

⎫⎪⎬
⎪⎭ r, s = 1, 2, 3.

2-�/�� �+S�/ ��� �β = α4mc 7�+� ���1 �'�

α2
µ = 1 αµαν + αναµ = 0 (µ �= ν) µ, ν = 1, 2, 3, 4. (6)
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(αµψ)(x, t, ζ) = Σζ′ αµ(ζζ′) ψ(x, t, ζ′).
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(
0 −i
i 0

)
, σ3 =

(
1 0
0 −1

)

�+T����� ��� *��� ���B� ��I�� ���������-�J� ��O��] � �� �L�|�� ���� �6� ���w�! ��

���+0�|�"

σ2
r = 1 σrσs + σsσr = 0, (r �= s), (7)

�7���=� �+ α �� �� �� ����(D �� �� �+ σ 7�-�����- ���� *7���� 3�V �+ α ���� �� �� 2-��� ��
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ρ1 =
⎧⎪⎪⎪⎨
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1 0 0 0
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,

ρ2 =
⎧⎪⎪⎪⎨
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0 0 −i 0
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ρ3 =
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V�C *2-�$2�9 0�� �� �� � �� ��+��4� � ��� � �� ��+�e� ��������� �� � �+ σ �� �+ ρ
7���� %7& �5V��B� �� $�PD

ρ2
r = 1 ρrρs + ρsρr = 0 (r �= s),

ρrσt = σtρr ��(E7+ �

⎫⎪⎬
⎪⎭ . (7′)

7���=� �'� V�C

α1 = ρ1σ1, α2 = ρ1σ2, α3 = ρ1σ3, α4 = ρ3
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α2
1 = ρ1σ1ρ1σ1 = ρ2

1σ
2
1 = 1

α1α2 = ρ1σ1ρ1σ2 = ρ2
1σ1σ2 = −ρ2

1σ2σ1 = −α2α1.

t2-� 3�V �2B� ��+$��O4�� ���� ��� ��+����B�

ρ1ρ2 = iρ3 = −ρ2ρ1

σ1σ2 = iσ3 = −σ2σ1

}
, (8)
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[p0 + ρ1(σ,p) + ρ3mc] ψ = 0, (9)

*0�� (σ1, σ2, σ3) ������ σ �9 �� ��
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�� �� *7�(� ρ3 �� ^�m NE �� �� %9& �����B�

[ρ3p0 + iρ2(σ1p1 + σ2p2 + σ3p3) +mc] ψ = 0.

��4��' ��

p0 = ip4,

ρ3 = γ4, ρ2σr = γr, r = 1, 2, 3, (10)

0/�� 7�+��"

[iΣγµpµ +mc] ψ = 0, µ = 1, 2, 3, 4. (11)

��/�� :�2>� ��� ��$2D�1 ����e� T4-��� �:�2>� �0
� pµ

f�



p′µ = Σνaµνpν ,

2((��� $���9�� �� ��� �Z��� � �� 2-� ���+�2D \ c aµν �a���m ��

Σµaµνaµτ = δντ , Στaµτaντ = δµν .

�� ��/�� :�2>� @�� �����B� ��� �� �(�

[
iΣγ′µp

′
µ +mc

]
ψ = 0, (12)

�9 �� ��

γ′µ = Σνaµνγν .

7���� ��+ αµ �2(-�� ��+ γµ ����� �
(��

γ2
µ = 1, γµγν + γνγµ = 0, (µ �= ν).

t��� `�� ��� �5��| �� ������ �� Z��� � ��� $�� � ���M ��

γµγν + γνγµ = 2δµν .

t7����

γ′µγ
′
ν + γ′νγ

′
µ = Στλaµτ aνλ (γτ γλ + γλ γτ )

= 2Στλaµτ aνλ δτλ

= 2Στaµτ aντ = 2 δµν .

���1 %10& �� 7�-����� a���� ��� �� � x2-��9���� �� �+ γµ �Z��� � ���+ �+ γ′µ a���� ��� ��
7�+�

γ′4 = ρ′3, γ′r = ρ′2σ
′
r

f�



�+ σ′ � �+ ρ′ 01� �9 �ρ′1 = −iρ′2ρ′3 � ρ′2 = −iγ′1γ′2γ′3 7�+� ���1 ρ′1� ρ′2 ��� �� �'� ���
*2(4;+ %8& � %7′& � %7& �� ���e� �� 2((��� $���9�� �� �e��� � ���+

�+ σ � �+ ρ �:J/ �� �� �+ σ′ � �+ ρ′ ������ �-�-���:�2>� 
� �� �� 7�+��� �� - #�C
�'� *2(4;+ ±1 �8(� ρ′3 ��+�~_ ���2A� �� ��/�� �R�4- ρ′32 = 1 �����B� �� *���9��

7���� ��/ #��D� ρ′3 ��� ρ′1 �:�2>� �`��� �� �-�-���:�2>� 
�

ρ′1ρ
′
3(ρ

′
1)

−1 = −ρ′3ρ′1(ρ′1)−1 = −ρ′3.

���+ 2 �� � ρ′3 �2 -�/�� - v�D �-� -� � �5P�2 > � �0
� �+�~_ ���2A � �� ���9 ��
−1 � � �� � +1 � � �� ρ′3 ��+�~_ ���2A�T! *2/�� �4/�� �� −ρ′3 ��+�~_ ���2A�

*0�� 0��� ��- �+ σ �� 
� �+ � �+ ρ′ �=�� ���� �
� [�- ���+ *2(4;+
��e1 �-�-�� �:�2>� �� �� �+�9 ����7+ ������ �2-�/�� ������ σ′

3 � ρ′3 �� ���9 ��

 � � � T ! *0�� −1 � � �� � +1 � � �� � +�9 �� ��e 1 � �|� ( D 5��| � �� �� *�� �
��J�� ���& *���9�� σ3 � ρ3 �:J/ �� ������ �� �+�9 ��+��4� � �+�e� �a��(� �a�������
� � � ������ �J� � � �� 2-��� ���� �w�+T����� �� �� ��/�� �4/�<' ��(� ρ′3 = ±σ′

3 ��
*%2-�/��- ��=��

0/�- ��� �:J/ �� ������ �� ���� ��4� � �e� ��8E �� �;����� �+

c+ Σrcrσr + Σrc
′
rρr + Σrscrsρrσs (13)

���9 �� �:J/ ��� �� σ′
1 ����� �� *2-� �2D c �� $��-�/ �crs � c′r � cr � c �a���m �9 �� ��

�� 7�(���� ���/�� 4 ��������! σ′
3 = σ3 �� � ������ ρ′3 = ρ3 �� �9 ��

σ′
1 = c1σ1 + c2σ2 + c31ρ3σ1 + c32ρ3σ2

�:J/ �� �(B�

0a b = −b a 	9� ��.1�� ���'��!�: b & a ��L.9��4

f�



σ′
1 =
⎧⎪⎪⎪⎨
⎪⎪⎪⎩

0 a12 0 0
a21 0 0 0
0 0 0 a34

0 0 a43 0

⎫⎪⎪⎪⎬
⎪⎪⎪⎭

�-�-�� �:�2> � �'� #�C *a34 a43 = 1 �a12 a21 = 1 �� 2+��� �� - σ′2
1 = 1 �S�/

� �2 -� /�� ^�m (a43/a34)
1
2 �� 3�� ��e� � (a21/a12)

1
2 �� #�� ��e� t7 � ( � #� � D� ��

� ���/�� $���9 �� σ1 �:J/ �� σ′
1 � �2-�/�� 7�;A� �+5��>D ���+ �� 3��� � #��� ���4�

*2(-���� ���Y� ���2� ρ′3 � σ′
3 ���e1 ��+T�����

������ σ′
3 = σ3 � σ′

1 = σ1 �� �� S�/ ��� �� � �7�(� ���� %13& �:J/ �� �� ρ′1 �'� #�C
2/�� ��� �:J/ �� 2��� �� 7�(���� �7�(� $��O4�� ��/�� ��������! ρ′3 = ρ3 �� �

ρ′1 = c′1ρ1 + c′2ρ2.

ρ′1 5��| ��� �� *c′1 = cos θ � c′2 = sin θ �� �c′12 + c′2
2 = 1 2+��� �� - ρ′12 = 1 �S�/

0�� ��� �:J/ ��

ρ′1 =
⎧⎪⎪⎪⎨
⎪⎪⎪⎩

0 0 e−iθ 0
0 0 0 e−iθ

eiθ 0 0 0
0 eiθ 0 0

⎫⎪⎪⎪⎬
⎪⎪⎪⎭

#��� ���4� � ���/�� ^�m eiθ �� 3��� � #��� ��e� t7�(� #��D� �� �-�-�� �5P�2>� �'� #�C
v�D ρ3 � σ2 � σ1 �� ��� �� �2� �2�9���� ρ1 �:J/ �� ρ′1 � ���/�� 7�;A� �9 �� 3��� �
� ρ2 �:J/ �� 2��� σ′

2 � ρ′2 �iσ′
2 = σ′

3σ
′
1 � iρ′2 = ρ′3ρ

′
1 ��+�e��� �s��� �� �V�C � *2-�/

*2(/�� σ2

�+ ρ′ ������� �� �-�-�� �:�2>� 
� ��/ a���� �� ��-�-�� �5P�2>� �� �w����� �� T!

�:J/ �� %12& �2�2� �@������B� a���� ��� �� *2(�9���� �+ σ � �+ ρ �:J/ �� �+ σ′ �
2�9�� 0�� �� ��|� �@�� ��+����B� �� �� �R��4- T! �2�9���� %9& �� %11& �9 ���|�

*0�� �4�� ����� �`��� �^�E��8E �� :A4;�

u�
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���2�� �� �;�M�(Y���4J�� ���2�� �� ���4J�� 
� ��-�4���+ �����9 0�� �� ����
� �p0 ���� �� p0 + e/c .A0 ��(��=��� �#��B� �2(�9�� �A ������� ���2�� � A0 ����J��
�� a��� � ��� � � *7 �� ��� ��� � � �� ��2�� ���2� ��-�4 � ��+ �� �p ���� �� p + e/c .A

7���9�� 0�� �� %9& �����B�

[
p0 +

e

c
A0 + ρ1

(
σ,p +

e

c
A
)

+ ρ3mc
]
ψ = 0. (14)

*0�� ���� �'��V�� ��+$2�2! �3��� �����9 ^�;C �� ���� @������B� ��� 2���� �l- ��
V�� �����B� ��+^��� �2-��� ��4� � �e� ��8E σ � ρ ��+T����� �� ��� �^�;4C� ��
��� ��M�" �� �+:C �L~- �� �� �9 �� *0�� %1& ���>1 ��4�>;- ���h �����B� ������ ��8E
���� �+:C �$2-���1�� ���2B� �2-�/�� �4/�<' ��(� 2-� S���� +e ����� �� �-��4J�� �� ��

�0
� �w�����- ���� �4/<' ��
� �� �� ���>d� *��/�� 0��� �'��V�� �$2�2! ������
*0�� #��D� �:��1 ��- %14& ������ �@������B� ���� :J/ ���+ �� 2/ $���9 T4-��� �:�2>�
%1& ���>1 ��4�>;- �@������B� �� %14& ��e��� �-�=E �� ��� �� �������� ����~� 7�-�����
e′ ����<'�� �� ���� *7�(�>� 7���� %5& �����B� �� �� ��M ���+ �9 �^�m �� �� 2(� �� g��

2+��� �e/c ��� ��

= [−(p0 + e′A0) + ρ1(σ,p + e′A) + ρ3mc]

× [(p0 + e′A0) + ρ1(σ,p + e′A) + ρ3mc]ψ

= [−(p0 + e′A0)2 + (σ,p + e′A)2 +m2c2

+ρ1

{
(σ,p + e′A)(p0 + e′A0) − (p0 + e′A0)(σ,p + e′A)

}
] ψ. %15&

$��O4�� 2-�/�� ������ σ � � �� C � B �$��"#� ������ �� ���� ����D ��e��� �� V�C
7�(���

(σ,B)(σ, C) =
∑

σ2
1 B1 C1 +

∑
(σ1σ2B1C2 + σ2σ1B2C1)

= (B, C) + i Σσ3 (B1C2 − B2C1)

uU



= (B, C) + i (σ, B× C). %16&

7�(��� �2�! B = C = p + e′A ��

(σ,p + e′A)2 = (p + e′A)2 + i Σ σ3

[(p1 + e′A1)(p2 + e′A2) − (p2 + e′A2)(p1 + e′A1)]

= (p + e′A)2 + �e′(σ, curlA).

��/�� %15& a���� ��� ��

0 =
[
− (p0 + e′A0)2 + (p + e′A)2 +m2c2 + e′�(σ, curlA)

−ie′�ρ1

(
σ, grad A0 +

1
c

∂A
∂t

)]
ψ

= [−(p0 + e′A0)2 + (p + e′A)2 +m2c2 + e′�(σ,H) + ie′�ρ1(σ, E)]ψ,

*2(4;+ �;�M�(Y� � �J��4J�� �� �+��2�� �� �+����� H � E �9 �� ��

����m� �5��>D �� �� %1& �� V�� �5��>D
e�

c
(σ, H) +

ie�

c
ρ1(σ, H)

��F�-� ����(D �� 2-����� �2-�/ 7�;A� 2m �� �41� �5��>D �� ��� *0�� 5��O4� F ��
���M ���4J�� T! *��/ �A�� 2�2� �����9 �5���� � �M�" �� ���4J�� ����m� �:�;-�4!
ie�/2mc . ρ1σ ��J��4J�� � ���4 ' � e�/2mc .σ ��;�M�(Y� � ���4 ' �� ��=-� 2(��� ��4��
*��/��v�� ��"�E ����4J�� �#2� �� �� 0�� ���E ���+ �;�M�(Y� � ���4 ' ��� *����
*7�/�� �4/�� �� b��l4-� 2��>- �� 0�� ���E �0�� 	
� ����+�� �� ��J��4J�� � ���4 '
%14& �� �-�4���+ ���� �0�� 
/ ����� ���� �J���� ��(B� �J��4J�� � ���4 ' ��9 �� ���
�� �9 �� ��/�� �+�� �41� �8(� ���+�� �0�;1 � �0�� �A�AC 7���� [��/ �9 �� ��
��+�-�4���+ ���9��� �� ��J/ �� �� 7�(��� ^�m � b� @���� �� � �=4"�� � �
- ��

*2�9 �� 0�� ��>1 ��+���l-

4����� #����� %� �� 7��G ���$ ��.���
 �.���+ ��(���C��� 45 §

*7�(��� ����� ��,�� ���~O� �� ����� ����- ���2�� �� �� ���4J�� 
� �0��C #�C
��� � � � ( � �0�� r �[� B/ �� $��"#� �` �� � 
� �� �e′A0 = V(r) � A = 0 7�+��� ��� 1

uf



��/�� %14& ��-�4���+

F ≡ p0 + V + ρ1(σ, p) + ρ3mc.


� ��� �� p0 �+�9 �� �� ���� 7�+��" ���B� �� Fψ = 0 �@������B� �����(� ��+:C
�F�-� � ���� � ����� 1/c `1�� �� � p0 � ��� x��/�� �4��' �l- �� �4����! 
� ����(D �� �':�D

*0��
m ����2� �������� ��-�J� *0��� 7�+��" �� 0��C �������� ���-�J� ��+#��=4-� �24��

��/�� L��B� ��� �:J/ ��

m = x × p,

2(��� $���9�� �� ��� �� �������� �Z��� � ��

m1x1 − x1m1 = 0, m1x2 − x2m1 = ihx3

m1p1 − p1m1 = 0, m1p2 − p2m1 = ihp3

m × m = i�m, m2m1 −m1m2 = 0,

⎫⎪⎬
⎪⎭ , (17)

� � � �r � � m ��(E7+ *2(�9�� 0�� �� �+i"�/ �0 '��� �� �� �e��� � �$���+ ��
*��/�� ������ pr ,����� ��-�J�

7����

m1F − Fm1 = ρ1{m1(σ, p) − (σ, p)m1}
= ρ1(σ, m1p − pm1)

= i�ρ1(σ2p3 − σ3p2)

��� �� �(� �

mF − Fm = i�ρ1 σ × p. (18)

7���� %8& �
�� �� �$�PD �� *0;�- 0��C �0��d 
� m �R�4- ��

σ1F − Fσ1 = ρ1

{
σ1(σ, p) − (σ, p)σ1

}
= ρ1(σ1σ − σσ1, p)

= 2 i ρ1 (σ3p2 − σ2p3),

uu



��� �� �(� �

σ F − Fσ = −2 i ρ1 σ × p

�� ��� ��

(m + 1
2�σ) F − F(m + 1

2�σ) = 0.

��� 7�-����� *0�� 0��C �0��d 
� %7���-��M �� �9 P) q� ��& m + 1
2�σ a���� ��� ��

�� �� ����� 1
2�σ �(�I�� �������� ���-�J� 
� ���4J�� 7���=� �� 7�(� ��>B� ��(E �� �R�4-

�� 2+��� �� M �:� �������� ���-�J� � ���/�� ���m� �9 �m ����2� �������� ���-�J�
*0�� 0��C �0��d

��" ���M �� *2-���1�� �+ M �� �+ m ����<'�� �� )����� %17& ��������� �Z��� �

M × M = i�M � M2 M3 = M3 M2.

�� �
�
| �^��K� 2��� m3 ���+�~_ ���2A� ��E *0�� 74;�� �,(� ��Y4� 
� M3

�'� *2(/�� �

2 ���� �^��K� 2��� M3 ���+�~_ ���2A� �2/�� ��2A�
� @�� �`��� �� 2(/�� �
7�+� ���1

M2 =
(
j2 − 1

4

)
�

2, %19&

�� (j − 1
2 )� ��$�4;' �� M3 ���+�~_ ���2A� � ���� 2+��" ��=�� ���4-��� ��2D j

*���'�� ��
| �� �+��2A� j a���� ��� �� *�7� ��� 2(+��" (j + 1
2 )�

0��C �0��d ��� �� �(� � ���/��- ������ F �� m2 �� 2�� ������ %18& �� �'$��� ��
0��d m2 �9 �� �� ���"�E ����4J�� ���>1 ����l- � �m�C ����l- ���� ��� *0;�-
*���<'�� g�� 2(��� L��B� %19& �2(-�� ���e��� �� �� k ��4�� ����4-��� ��2D � �0��

*2(��� ���� �� ��>1 ����l- �� k �,A- `1�� �� j �� 2�� 7�+��"

4����� #����� %� �� 7��G #���$ ����� #��(
��+ 46 §

�9 �� �� 7���9�� 0�� �� r �� ���;-��O�� ������B� �:J/ �� �� @�� �����B� V�C
�8(� 7�-����� �� ��� ��� *2-�$2/ {<C 2((���i_ � �� 74;�� ����'08� �� �w�+��Y4�

*7�+� 3�R-� 2�9�� �� �/�� �� ����2A� �w�������- �>� �� $��O4�� ��
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0/�� 7�+��" *B = C = m 2���=� %16& ��e��� ��

(σ,m)2 = m2 + i(σ,m × m)

= (m + 1
2�σ)2 − �(σ,m) − 1

4�
2σ2 − �(σ,m)

= = M2 − 2�(σ,m) − 3
4�

2. %20&

�� ��� ��

{(σ,m) + �}2 = M2 + 1
4�

2 = j2�
2.

� � ��� � �� j� 7�-�� ��� �7�+��_� �'� �V�C � �7���� L��B� j2 �$�� �� ZA� �� j �� ��� � �
�� ���C �� 2/�� 0��C �0��d 
� j 7�+��"�� ���� 0;�- a��(� ��� *7���=� (σ,m) + �

%16& �� ��=�� ������� �� �`1�� �� *0;+ b�`��� �E �'� �0;�- 0��C �0��d (σ,m) + �

�7����

(σ,m) (σ,p) = i(σ,m × p),

��� � ���M �� � �(m, p) = 0 �� �� �9 ��

(σ,p) (σ,m) = i(σ,p× m),

T!

(σ,m) (σ,p) + (σ,p) (σ,m) = i
∑

σ1 (m2p3 −m3p2 + p2m3 − p3m2)

= i
∑

σ1 . 2i�p1 = −2�(σ,p)

��

{(σ,m) + �} (σ,p) + (σ,p) {(σ,m) + �} = 0.

������ ���=�� �� � ���������! �2/�� ρ1 (σ, p) �� �F �5P�� �� �J� �� (σ,m) + � T!

�0��d �R�4- �� � ���/�� ������ ���� ��8E ���+ �� ρ3{(σ,m) + �} �� ��� �� *��/��
7���'�� T! *2/�� j2 �

2 � ����� 2��� 7+ ρ3 {(σ,m) + �} �`��� ���� *0�� 0��C

j� = ρ3{(σ,m) + �}. (21)

u}



t7���� %16& �� ��=�� ������� ��

(σ,x) (σ,p) = (x, p) + i (σ,m).

0;+ pr �� ��R� �L��B� 
� ���(��

(x, p) = rpr + i�,

%21& �� �

(σ,m) = ρ3j� − �.

T!

(σ,x) (σ,p) = rpr + iρ3j�. (22)

tL��B� ��� �� �7�(��� ���B� �� ε �0����

rε = ρ1 (σ,x). %23&

7���� T! *��/�� 7+ ε �� ���/�� ������ (σ, x) � ρ1 �� r ��E

r2ε2 = [ρ1 (σ,x)]2 = (σ,x)2 = x2 = r2

��

ε2 = 1.

�2(-�� �ρ1 (σ,x) �0;+ ���A� p � x ���� �0�� S���� ��������-�J� �� �� �w�� �� ���E
7���� ��E ���/������ pr �� 2��� ε �$�PD �� *��/ ������ j � M �� 2��� ε �ρ1 (σ,p)

(σ,x) (x, p) − (x, p) (σ,x) = i� (σ,x),

2+��� ��

rε (rpr + i�) − (rpr + i�) rε = i�rε,

u�



�� 2���� ��

εpr − prε = 0.

7���� %23& � %22& �� #�C

rερ1 (σ,p) = rpr + iρ3j�

��

ρ1 (σ,p) = εpr + iερ3j�/r.

a���� ��� ��

F = p0 + V + εpr + iερ3j�/r + ρ3mc. %24&

�:�2>� 
� �� 7�-����� T! *��/�� ��������! ρ3 �� ε �� 2+��� �� - %23& �����B�
�� ρ2 �:J/ �� �� ε %2/�� 7+ �+ ρ � �+ σ ��(E 7+ � �+ p � �+ x �:��/ 2��/ ��& �-�-��
� � � Y � 2 -� $2�9 %24) �0��� �{�M �� �� �w�+� � Y 4� �3�� � � ρ3 �� �9 �� �7 ���9 �� 2 §

�:J/ �� iερ3 V�C *2-�/�� ������ ε �� �+��Y4� ��� �3��� ���� � 0�� �J�� ��� � �2((�
2�9�� �� ��� �:J/ �� @������B� ��� �� �(� � �2/ 2+��" iρ2ρ3 = −ρ1

Fψ ≡ [p0 + V + ρ2pr − ρ1j�/r + ρ3mc] ψ = 0.

�� 3��� � #��� �� %�+�e� ��& �+��4� �� ���(4� ���+�O��]� � �7�;��(� :��� �� ����B� ��� �'�
0/�� 7�+��" �7���(� ψβ � ψα a���� ��

(Fψ)α ≡ (p0 + V) ψα − �
∂

∂r
ψβ − j�

r
ψβ +mcψα = 0,

(Fψ)β ≡ (p0 + V) ψβ + �
∂

∂r
ψα − j�

r
ψα −mcψβ = 0.

�'� *7�(��� {<C �� ψα V�C *2(+��� �� �+����B� ���+ � ���J� 3��8E � 3��� �� �+�O��] �
��/ �� #�� �����B� �7���<=� p0 + V +mc ���� �� �� �B(

∂

∂r
+
j

r

)
ψβ = Bψα

u�



2+��� ���'�4 � �� ��

∂2

∂r2
ψβ +

j

r

∂

∂r
ψβ − j

r2
ψβ = B

∂

∂r
ψα +

∂B
∂r
ψα

=
B
�

[
− (p0 + V −mc) ψβ +

j�

r
ψα

]
+

1
�

∂V
∂r

ψα

= − (p0 + V)2 −m2c2

�2
ψβ +

( j
r

+
1

B�

∂V
∂r

)( ∂
∂r

+
j

r

)
ψβ .

�� 2���� ���

∂2

∂r2
ψβ +

[
(p0 + V)2 −m2c2

�2
− j(j + 1)

r2

]
ψβ − 1

B�

∂V
∂r

( ∂
∂r

+
j

r

)
ψβ = 0. %25&

�+�(4� r = ∞ � r = 0 �� �� ���� �w�+:C ����B� ��� �+�9 ����� �� p0 ��4����! ���+��2A�

���+����B� �� ����B� ��� ��;��A� ����� *74;�� ��F�-� ���+���� � 1/c �� 2-� ����� �2-�
a���� ��� �� �ψβ = rχ 7�+��� ���1 ��>1 ���+���l-

∂2

∂r2
χ+

2
r

∂

∂r
χ+
[
(p0 + V)2 −m2c2

�2
− j(j + 1)

r2

]
χ− 1

B�

∂V
∂r

( ∂
∂r

+
j

r

)
χ = 0. %26&

�����B� ����B� ��� �0�� 
E�� B ��'��� �0��D �� �� �7�(� �l-{�| ���� ���"9 �� �'�
*���� ��" �� 7+ �� �4�>;- �5�
�
~� �� ���/�� 74;�� ��� ����� ����B� ��=(����/
�� �+�~_ ���2A� ���
| ��O(� � 0>q� ���2A� �� �+ �L��B� �� �(� �j �� �w�� �9 ��
����� �� �� �F�-� ���+���� ��2B� ��� - �l- �{�| �"9 ����� �� �'� ��� �����B� ����'��

*2+���
�4�>;- �5�
�
~� ��'��� ��>��� ���+ �� �� ��� %26& �����B� ��"9 ����� #�C

2��� ��� ��� ����� *7�(��� �;��A� 2-� $��� ���w�! � ������ �� ���(�I�� ���
~� �� �0��
7���<'�� *7�(� {<C @�� �`��� ����m� �:�2>� 
� �� �� ∂χ/∂r �����

χ = B− 1
2χ1,

2+��� ��

∂2

∂r2
χ1 +

2
r

∂

∂r
χ1 +

[
(p0 + V)2 −m2c2

�2
− j(j + 1)

r2

]
χ1

+
[

1
B�

j

r

∂V
∂r

− 1
2

1
B�

∂2V
∂r2

+
1
4

1
B2�2

(∂V
∂r

)2
]
χ1 = 0. %27&

u�



2+��� ��
~� ��� �01� �#�� ��>��� ��

1
B�

( j
r

∂V
∂r

− 1
2
∂2V
∂r2

)

7 �+� ��� 1 2 �� � �F��2 � + �7 �� ��� � *0�� B� = 2mc %2/� � 0> q � p0 � '�& ��9 �� � �
��/�� #�� ��>��� ���
~� *V = e2/cr

− e2

2mc2r3
(j + 1). %28&

7 4; � � �$2 ( -� �� � - � � ��� � �� �� �� � � Y � �−j 7 ���<= � j + 1 ���� � � %27& �� � '�
T! �7��$��2- 0�� $2 -:4_�

e2

2mc2r3
j (28′)

*2+��� $2 -:4_� 74;�� ���+ ����� ��=�� ��J�� ���
~�
���(4� ����� �2/ ���� s���� 1

2 �a��m ����� �� 2B� ������� � ���w�! ����l- ��
��/�� ��
~�

e2

2m�c2r3
(σ, m)

�,A- k �2(�9�� ���������-�J� �����������w�! ����l- �� �� 7�/�� �4/�� �M�" �� 2���
�� �%19& b���1� ��4;-�� �v�D �� ��� k 2��� �� *2(��� ���� �� j �� �4�;1

m2 = k(k + 1) �
2

7���� %20& �� *���=� ��
| ���+�~_ ���2A� j �2(-�� 2-��4� �� �7�(� L��B�

(σ,m)2 = k(k + 1) �
2 − � (σ,m)

��

{(σ,m) +
1
2

�}2 = (k +
1
2
)2�

2,

�� ��� ��

(σ,m) = k� �� − (k + 1)�.

u�



��/�� ��
~� a���� ��� ��

e2

2mc2r3
k �� − e2

2mc2r3
(k + 1)

���+ �a��A� ����� �� ��-�(� ����l- a���� ��� �� *���� �-��"7+ %28′& � %28& �� ��
���� 0A ��� � ,�� ��9 � � � � �� � �� w� ! � � ����� �Z�� � $2 �9 0�� � � ��F� -� ���+��� �

*2+���

�����

1. Pauli, ‘Z. f. Physik,’ vol. 43, p. 601 (1927)

2. Darwin, ‘Roy. Soc. Proc.,’ A, vol. 116, p. 227 (1927)

3. Gordon, ‘ Z. f. Physik,’ vol. 40, p.117 (1926)

4. Klein, ‘ Z. f. Physik,’ vol. 41, p. 407 (1927)

5. Jordan, ‘ Z. f. Physik,’ vol. 40, p. 809 (1927); Dirac, ‘Roy. Soc. Proc.,’ A,

vol. 113, p. 621 (1927)

6. Pauli, loc. cit.

7. ‘Roy. Soc. Proc.,’ A, vol.111, p. 281 (1928)

z�


